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Human Resource Management
(EIECIGT IR EECE)
Bachelor of Commerce (B.Com)

Second Year, Examination - 2019

Time: 3 Hours Max. Marks: 80

Note:- This paper is of eighty (80) marks containing three
sections-A, B, and C. Learners are required to attempt the
questions contained in these sections according to the detailed
instructions given therein.
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Section-A (EUVS—®)
(Long Answer Type Question) / @rdl ST dTel 93)

Note: Section ‘A’ contains four (04) long-answer-type
questions of Nineteen (19) marks each. Learners are
required to answer any two (02) questions only.

(2x19=38)
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1. What do you understand by (HRP) human resource
planning ? Explain the various steps in the Human

Resource Planning Process (HRP).
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2. Define Selection. Explain the process of selection.
Tg9 DI URAINT DITY | =T BT Ufhar &l
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3. Bring out the difference between executive

remuneration and wages of workers. Justify the high

remuneration paid to workers.
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4. Explain collective bargaining. What is its role in

resolving disputes?
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Section-B (TUs—&)
(Short Answer Type Question) / (cT€] IR drel 93)

Note:- Section ‘B’ contains eight (08) short answer type
questions of Eight (08) marks each. Learners are
required to answer four (04) questions only.

(4x8=32)
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1. Give the meaning and techniques of job design.
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2. What do you understand by employee motivation?
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3. Write note on Induction.

IRor iR fewofy gy |

4. What are the internal and external sources of

recruitment?
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5. Write note on human resource information system.
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6. What do you understand by Discipline?
39 TR ¥ &I FHsT 57

7. Define a trade union. Why do employees join unions?
AHHHET DI GRAMNT DY | HHARI Fai |
FI efHA Bl B7

8. Distinguish between training and development.
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Section-C (¥vs—)
(Objective Type Questions) / (AEfTs6 Ye)

Note:- Section ‘C’ contains ten (10) objective type
questions of One (01) marks each. All the questions
of this section are compulsory. (10x1=10)
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1. A manager may delegate any of the following except:
(a) Authority
(b) Workload
(©) Responsibility

(d)  Attendance at meetings to represent the
department
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2. Workforce planning involves all of the following

except:
(a)
(b)
(©
(d)

Organising the training of staff
Forecasting future personnel requirements
Examining production plans in a factory

Preparing and maintaining personnel records
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3. Maslow, in his triangle of human needs, showed that.

(a)
(b)

(©
(d)
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Having challenging new tasks is a basic
human need

Money always motivates workers

Safety and security is a low order human need
Workers will not give of their best unless they

have good social events provided by the firm.
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4. (HRM) Human Resource Management helps to
improve:
(a) Production
(b) Productivity
(©) Profits

(d) Power
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5. An advantage of recruitment from outside the
company is :
(a) That it is cheaper than internal recruitment
(b) That there is no need to advertise the vacancy
(©) That it brings in new experience and skills to
the firm

(d) That it avoids jealousy within the firm
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6. Most management teams use ‘appraisal’ but what is

meant by this terms?

(a)

(b)

(©

(d)

A system used to improve the performance of
personnel.

The main way in which an employee’s wages
are determined.

A system of reward points offered by retailers
to attract customer loyalty.

The evaluation of an individual employee’s

performance over a given period of time.
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7. Majority of the disputes in Industries is (are) related
to the problem of-

(a) Wages (b) Salaries
(©) Benefits (d) All of the above
I H faaral @1 siferemierdr gaw = |4 9
frad T o
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8. Which of the following is NOT normally a sign of

poor morale amongst a workforce?

(a) High levels of absenteeism.

(b) High levels of turnover.

(©) Increased levels of personal productivity.

(d) A poor external image and difficulties

attracting good recruits.

frfafRaa 5 9 9 A7 AR W Uh HRIgd
@ I WY G BT Gbd T8l 27
(@)  oruReft & ST wWR|

(&) HRITN DT Iod & |
(@) AT SR & WR A gy |
@) UP W@ qeY Bfd Ifd Fgfad a1

IMBNT B H BT |

S-261/BCM-202 10 P.T.O.



S-261/BCM-202

9. Ineffective planning of workforce would be

highlighted by:

(a) Recruitment and selection problems.

(b) The need to outsource some of the production

(©) A need to offer retaining to current
Employees.

(d) An opportunity to increase the use of
mechanization.
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10. Grievanceis akind .......... among the employees.

(a) Satisfaction

(b) Indiscipline

(©) Absenteeism

(d) Dissatisfaction
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